Factor B: Fullness

Factor A: Empty
Weight
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step 2. Locate the critical range for F-ratio. calculate the df's

1. dfiotal =N-1=79
2. dfwithin = Y.dftreatment
=19+19+19+19
=76
3. dftetween =k —1 (k is number of cells)
=3
4. dfa = number of levels of A—1=1
5. dfB = number of levelsof B—-1=1
6. s = dfye — dfa — dfy
=3-1-1
=1

Compute F-ratio
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= 5916
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1. SSuwithin = YSStreatment
=1540 + 1270 +1320 + 1266
= 5396
S8uwithin = 8 Swithin = 1540 + 1270 4 1320 + 1266 = 5396
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1. MSa = >4=2=20

A
2. MSg = % = 22 =180
B
3. MSai.p =348 - 320 _ 339
dexB 1
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F-ratio
1. Fa(1,76) = 224 - 20
MSwith 71
2. Fp(1,76) = —28 = 1%

MSyien 71
MS axB 320

3. Farp(, 76)= —2£ =



Table 1. Mean number of crackers eaten in each treatment condition

Fullness
Empty Full
stomach stomach
Weight Normal M= 22 M=15
SD=9.00 SD=8.18
Obese M= 17 M= 18
SD=8.34 SD=8.16
Result
Source SS df MS F
Between treatment 520 3 520/3
- Factor A (weight) 20 1 20 20/71 =~ 0.28
- Factor B (fullness) 180 1 180 180/71 =~ 2.54
- A x B interaction 320 1 320 320/71 = 4.51
Within treatment 5396 76 71
Total 5916 79

weight x fullness factorial design

FA critical value (1’76) > FA calculated value (1'76)
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